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In[100];= DP=1e-3;cal 'd'f'«f 0.5

Residual = 6. 1658E-04 DPF =0.00100 DPD =0.00000 ExponentOffesidual = 2.0
CfiMomentumWeight = 1.000

DF =001 —BE—4 —6E~4 =3E=4 .00] 5.E-4 B.E-1 001

Res. 3.E-4 7.E-5 8.E-6 7.E-7 5.E-5 3. E-6 3.E-5 2.E-4
SFIF/SF2F N Sx&:zs & 500 500 .500 500 500 500 .500 500
SFIF/SF2F MY ##&&d = 500 500 500 500 500 .500 500 500
SDIF/SDZF MX  #d###% & 500 500 500 500 .500 .500 500 500
SOIF/S0EF MY ###+#+% # .500 500 500 500 .500 .500 .500 .500
2EE fax 0 9 .05 014 010 .004 -E-5 -.005 -.008 =017
BoEh fBX $&##7 #1.736 L858 1,948 2.001 2.015 1.526 1.828 1.703
L fE #RsmEF 3 2927 2020 2.915 2.912 2911 2.512 2.915 2.921
255 iay 0 g -.072-.036-.011 .003 .007 -.008 —-.025 -.044
ZE8 fB¥M 1E=4 9 1.FE-41.E-41.E-41E-41E=41FE~-41.E=].E-=
ShE Y HEssE £ 3,283 3.276 3.270 3.267 3.264 3.264 3.265 3.267
HhHS iEX 0 0 .04 002 4.E-4 3.E-5 1.E-5 -3E-4—001 -.003
HES LENG ##&#4#% #55.161819



E=1.54 Ga¥

v =3 = 10 Bmy -3 X 10-8m

[n{91]:= DP=1e—3:mea

Statistics at £5%: particles = 1000 ;

BAD: T, RFSW: T, GAUSS: T, DP= 041000, QPR = 000000, GCUT = L.0000EZS
x  px/p0 ¥ PSRl z  dp/pD

Caf M:-1.994E-05-9.126E-06 1.911E-09 2.25TE-05-2.505E-05 4.479E-D5
X1 Z.036E-09

px/ph : -8.72TE-11 6.575E-09
v 2.355E-14 T.443F-14 1 208E-135
py/pd : 6.125E-11-5.966E-10 2.318E-12 1.006E-OT
T 2.098E-10-8.4T4E-08-5.507E=14 9.97V<E=101.37TE=08
dp/pl ; -2.729E-09 7.303E-08 5.310E~13-8.128E-09-1.113E~0F 9.260E-07
==y projected(coupled) parameters:
emite: L2V20E-09 bec: 1584 ax:-0.1478  ex:-2.9409E-03 epx: 7.8568E-02
ermity: 1.0VEYE-11 b 1.1212E-04 av:-0.2156 v 5.7340E-0V epyv:-B.TTTOEA3
-y decoupled parametors:
ermitu; 1.2720E-0%9 bu: 1.584 an—0.1478  ew:-2.9488E-03 epu: 7.8863E-02
ermibv: L.OTEAE-11 bv: 1.1206E-04 av:-0.2156 ev-2.3879E-06 epv:—-1.2918E2

r1:=8.8607TE-06 r2:-3.7T8T9E-05 r3:-1.1667TE-)2 r4:-5.2831E-02d=tr: 2. 7TO0G0E-0S
slox: 4.5122E-05 slgw: 3.4734E-08 Hile:-1.1566E-05
slgp: 2. 1087E-05 slgpy: 3.1T16E-D4

sigp/p: 9.6227E-04 slgz: 1.1733E-04 dp/p/2:-9.4828E-04/5lgz



DRIFT LDF =L =1) LAIF =(L=13) LA2F =(L=1.3)
LAJF =L=1.3) [AdF =(L=1.3) LAGF =(L=-1.13)
LATF =L-1.3) LBOF =(L=3) LBIF ={L=13)
LBaF ={L=3) LB3F ={L=3) LBAF ={L=3)
LB3F ={l.=3) LB&F =(L=3} LB7F =(L=3)
LBSF ~(L=-1.3) LB9F =(L=-1.3) LBIOF =(L=1.3)
LB11F =(L=3) LCIF ~[L-1.2) LC2F =~(L=3)
LC3F =(L=1)

QUAD QAlF =(L=18 K1=902406791402 )
QAZE =(L=18 K1 =-1.1814235442215 )
QAZF =(L=18 K1 = 4402380076565 )
QAR =L =18 Kl ——.1222267654219 )
QASF =(L=18 Kl --.0213478151473 )
QARF =L=18 Kl =.0359560683224 )
QBOF ={L=18 Kl =.2318743741557 )
QBIF ={L=18 Kl =.3233651742199 )
CB2F =({L =18 K1 =-0106673320277)
WEBIF =L =18 K1 =-04805838071658 )
QB4F =L =18 K1 = 7124582472136 )
QBSF ={L=18 KI =-1.0040814778477 )
LBEF =(L=18 Kl = 4615785732361 )
QBTF =(L=18 Kl = 0026831041963 )
QCIF =(L =4 '{1=08398050458349 )
QC2F =L =4 KI =-1.1348444157468)

SEXT JFIF =(L=1 HK2=-18.7634392537942 )
SDIF =(L=1 K2=319650206730401 )
SFEF =(L=1 K2=— 2733122135481 )
SD2F =(L~1 K2 =4 8256034046531 )
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37.4862350 3.700000 000000 38.591819 000000 O

Q00000 0onpoo. 194
585 53.743747 3.056483 .0a00on §5.161813 000000 0
gooogo 000000 237

Chi2 Chi3
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-5.053408



